
 

l; g= ljj/)f 
z"Ns 

l*Knf]df lk|-l*Knf]df s}lkmot 

1 egf{ z"Ns 10800 2000   

2 dfl;s z"Ns 18000 5400 ?= 500/300 k|lt dlxgf 

3 CTEVT Registration z"Ns - - lgodfg";f/ ljBfyL{ cfkm}n] ltg]{ 

4 kl/ro kq z"Ns 200 200   

5 k|of]ufTds z"Ns 5000 3000   

6 
cjnf]sg tyf Industrial Visit e|d)f z"Ns 

w/f}^L 
8000 3300   

7 k":tsfno z"Ns 1000 500   

8 dd{t z"Ns 2000 2000   

9 Jofj;flos kl/ifb\ z"Ns - - lgodfg";f/ ljBfyL{ cfkm}n] ltg]{ 

10 w/f}^L z"Ns 3000 2000 Refundable 

11 k/LIff z"Ns - - lgodfg";f/ ljBfyL{ cfkm}n] ltg]{ 

hDdf 48000 18400   


